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Test time: 75 minutes

1 The plan shows a design for a garden. Draw on all the lines of symmetry.
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Find the difference between 18 £ and 35 2

(1)

Circle the smallest number in this list.

(5)
: 0.333 : 0.24 23% 26 2
4 Add together the numbers below. Write your answer in figures (numerals).
(2
four hundred thousand fifty-eight thousand two hundred !
eighty-seven six million
5 Tariq buys 5 tubs of raspberries costing £1.65 per tub and 4 packs of satsumas

costing £1.89 per pack. How much change will he receive if he pays with a £20 note?

(4)

6 186 plus 216 = (1)
7 871 subtract 348 = (1)
8 76 multiplied by 34 = (1)
9 1872 divided by 12 = (1)
10 Eggs are packed into boxes. Each box holds half a dozen eggs. How many

boxes are needed to hold 87 eggs? (2)
11 Draw hands on the clock face to show the time 20:35 (1)
12 If 3 packets of cereal cost £5.55, how much will 5 packets cost? (2)
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13 Nis a digit between O and 9
TR
a;st:;; Z::rcler:: {:tjout their favourite type of food. She draws the bar chart ()
W to sh_ow her results. What mistake did she make when she drew the bar chart?

(2)
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20 What is 5 + 3+ 3 + 57 Write your answer as a mixed number. (5)

i for the function hi . _
Aip S g machine below is an odd
even, odd or either even or odd? 0dd number, will the output be

, e s %
Input—>3—’3—>0utput (4)

22 Farmer Phil is going to put up a POst and rail fence. Th i
metres and 3 rails between eac post, ere will be a post every 3

r If 56 of her friends chose comedy, how many friends did she ask altogether?
|
:

-
3Im

Not drawn accurately

23 In the magic square below, each column, row and diagonal adds up to 15
Which number will be in the cell marked with an X?

=

(3)

53
2 X

24 Jennifer has lots of cats and kittens. All of her cats have the same mass and all of her
kittens have the same mass. Three cats and four kittens have a mass of 20kg. Five
cats and six kittens have a mass of 32 kg. What is the mass of one cat and one kitten?

(5)
age be in three years’ time? (2)

26 The number in the middle circle of each side of this triangle is the sum of the
numbers on either side of that circle. Complete the diagram. (3)

* ° °

27 David and Sophie are out pushing their son, Dexter, in his pram. The wheels of the pram
are 20cm in diameter. How many turns will each wheel make as they push the pram
along a 5 metre path? Round your answer to the nearest whole number.

Remember, the circumference of a circle is 3.14 multiplied by the diameter.

(3)
i Turn over to the next page .

25 Two years ago, the combined age of five cats was 25 years. What will their combined




. lock
| s does the minutes hand of a clock move betWeen 439
Through how many degree Through h D
hroug : .Through how
& and 5:05 pM? ——— "~ 1 hour 40 minutes & ma

| Y de (3
sts fo : is time? 8rees )
9 Tom watches a film th:lto[cak face move during this tumfebl x wil
2 the minute hand o: ae cards to make the closest possible number tq 7000 (4
digits on thes
30 Use the

el

N : . 1
" 31 4! is an abbreviation fordx3x2X

- 41=24
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 the square and then write down the number that goes into the cell Markeq y

(5)
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40 Complete the se Bl s
985368 is 990 L (1)

41 Jahangir is using a m , - een Fromley and Gowinton. The map
has a scale of 1cm:250 between the two towns is 8 cm.
What is the actual distanc 20 (1)

42 The menus from three fast food restz Which restaurant
is cheapest if you want to buy a chee ake?

2 (4)
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43 The diagram shows a regular octago
triangles. What is the size of angle x? ————

n that has been divided into 8 identical

(3)

PR

e two heads? (2)
kets, 8 trick tickets and 8 blank
| pick a trick ticket? Write your

44 | toss a coin twice. What is the probability that | scor
45 In a lucky dip at the school fair, there are 24 treat tic

tickets. | pick the first ticket. What is the probability that
answer as a fraction in its simplest form. — ———— (3)
46 Round 29.236 to two decimal places. : . (1)
47 Use rounding to check whether or not the calculation below is accurate. Write down
your calculation.
(1)

489 x 9 = 44001 . :
48 The numbers in this sequence decrease by the same amount each time. Write down t

next number in the sequence.
217 157 97 37

49 The Perfect Party has 44 523 suppo
as possible. How could they round the number of supporte

he
(1)

rters. They want to make themselves look as popular
rs to achieve this?
(1)

50 In the diagram below, Shape A has been translated to form Shape B. Write down

the vector that describes the translation. ( ) (2)
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I 51 Aliens are landing on the Earth. There are 3-eyed aliens and 5-eyed aliens. There are

79 aliens with a total of 325 eyes. How many aliens have 3eyes? . (4)
e
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52 It takes a group of 8 children 6 days to answer all the questions in a maths book. (They
work on separate pages.) How many days would you expect it to take a group of 3
children to answer all the questions? (2)

53 Andy wonders how many rolls of toilet paper he would need to tear up to cover the
whole area of his garden in sheets of toilet paper.

One toilet roll has 220 sheets, each measuring 12cm by 11cm.
Andy’s garden measures 5m by 5m.
How many toilet rolls will Andy need? (4)

828006668 ]

1 sheet 11cm L

'An'dy‘s garden

[

12cm e @ & o » & 5m
Eiw "- . ]
'}: E. -—;_'V: Whole toilet D e A J
-, roll 5m
Not drawn accurately

54 At the pet grooming company, Pamper your Dog, it costs £35.00 to have a dog groomed.
There is a 15% discount if a dog is groomed once a month for the whole year.
How much will it cost Debra to have her dog, Roxy, groomed once a month for
a whole year? (3)
55 Di pays £59.40 for a dress for her brother’s wedding. The dress was reduced by
50% in a sale and on the day Di bought the dress, the manager was offering a further

10% off. What was the original cost of the dress? (2)
56 Hayato is 5 feet 2 inches tall and his friend Takumi is 4 feet 9 inches tall. What is the

difference in their heights in centimetres? (1 inch = 2.5cm) (2)
57 The following quantities of food are recommended for 3 people.

Pasta: 375g Quiche: 270 g Vegetables: 1% cups

What quantities of these foods would be recommended for 5 people? (3)

Pasta: Quiche: Vegetables:

|
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Distance
from the Sun
(millions km)

Mercury . __,___5.8____
i AN oS
- Tbe e
wE':;t;"‘"’ 150
Jupiter ____7_7_8___._
| Saturn _______1§_2_§__-
- Uranus ___:2_8_74__
‘ 4501
ne
Neptune | >0 |

Wwhich two planets are 1317 million kilometres apart?

(1)
67 DVDs cost £3.99 each. How many DVDs can be bought with £40? (1)
68 How many lines of symmetry does a regular heptagon have? (1)
69 What is the order of rotational symmetry of the shape shown? (1)

-

70 Duncan swims 1000 metres in a 25-metre swimming pool. He swims 15 lengths of
front crawl, 10 lengths of breaststroke, 7 lengths of butterfly and the rest backstroke.
How many metres of backstroke does he swim? (4)

71 Max is running a 3-kilometre race. When the winner of the race crosses the line, Max is

66% of the way through the race. How far has Max run when the winner crosses the
finishing line? (1)
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73 Look at the grid below. Lara starts in A1 and moves across the grid following the
directions. On which square does she finish?

(1)

8| |

7

6

Start
1 x

A B (= D E F: G H

Start on Al

Move 2 squares North
Move 3 squares East

Move 2 squares North East
Move 3 squares North
Move 2 squares West

Move 1 square South

Move 2 squares South West

74 The Carroll diagram below shows the hair length of the children in a class.
?Long hair ;fShort hair




A child is picked at random. Mark with an X the position that represents the probability

that the child is a girl with long hair. 2)
: !
?: | |
F;;.;;/ Even chance TR
75 K,-ystian's office is- 9 metres by 6 fnetres.Work out the area of his office and use this
:nformation to write down four different multiplication and division facts. (4)

76 Todd emptied all the coins in his piggy bank and drew a pictogram to show the contents.

How much money was in his piggy bank? (5)
!
T
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z =4 coins
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CEECRCRS &)
ip 29 S5p 10p 20p 5S0p f£1 £2
Coins
77 Rotate the parallelogram 90° anticlockwise about point O. (1)
1B 4
|
] ] ] R B | |

78 At a set of crossroads controlled by traffic lights, each road gets a green light in turn.
When one road has a green light, the other three roads have a red light. The lights are
green for 30 seconds at a time.

Jensen arrives in a queue at road 4 just as the lights turn red. Each time the traffic lights
on road 4 are green, 7 cars get through the lights. Jensen is 15 cars back. How long will
he have to wait to get through the lights? (2)
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